CHANGE ORDER

Distribution:

☑ FBC Engineering

☑ FBC Judge

☑ FBC Purchasing

☑ Contractor

☑ Consultant

FORT BEND COUNTY ENGINEERING

Address:

301 Jackson Street

Richmond, Texas 77469

Phone:

281-633-7500

Web site:

www.FortBendCountyTx.gov

| PROJECT: | CHANGE ORDER NU | MBFR | 3 |
|---|----------------------------|---|------------|
| Sidewalk Safety Program (17206) | DATE | | 07/19/2022 |
| | PROJECT NUMBER . | | 17206 |
| CONTRACTOR: | BID NO | | 21-021 |
| RJ&M Utility Construction | CONTRACT DATE | | 11/24/2020 |
| 620 West Drive Channelview, TX 77530 | FBC PURCHASE ORD | | 195527 |
| The contract is changed as follows: | | | |
| Not valid until signed by Fort Bend Coun | ty and Contractor | | |
| | ty and Contractor. | | |
| The Original (Contract Sum) | | \$ | 238,087.40 |
| Net change by previously authorized Change Or | ders | \$ | 31,537.51 |
| The (Contract Sum) Prior to this Change Order | was | \$ | 269,624.91 |
| The (Contract Sum) will be increased or by this Change Order in the amount of | ☑ decreased or ☐ unchanged | \$ | -14,606.04 |
| The new (Contract Sum) including this Change | Order will be | \$ | 255,018.87 |
| The Contract Time will be increased or The Date of Completion as of this Change Order | therefore is | 11 days. 1/15/2021 | |
| <u>. </u> | Johangea of Elanonangea to | | |
| | Authorized: | | |
| J. Stacy Slawinski, P.E. RJ&M Ut 301 Jackson 620 Wes | Men X 77530 | Fort Bend County Judg Honorable KP George 301 Jackson St., #719 Richmland Texas 77469 By: | |
| we (| 07/19/2022 | | |

I:\Construction\Forms\Change Order form.pdf



CHARLES D. GOODEN CONSULTING ENGINEERS, INC.

2320 Holmes Road, Suite A Houston, Texas 77051-1014 (713) 660-6905 Fax (713) 660-8817 cdgce@goodenengineers.com www.goodenengineers.com

July 19, 2022

J. Stacy Slawinski, P.E. – County Engineer Fort Bend County, Texas 301 Jackson Street Richmond, TX 77469

RE: Change Order No. 3

Bid No. 21-021

Precinct 2 Sidewalk Safety Program - Project No. 17206

Contractor: RJ&M Construction

Mr. Slawinski:

Change Order No. 3 seeks to add eleven (11) days to the contract time and reduce the contract amount by \$14,606.04 for a final contract price of \$255,018.87.

The attached pages detail which pay items will be adjusted.

After review of the contract scope and directives issued to the Contractor, eleven (11) additional contract days are proposed.

The Contract end date shall be adjusted to November 16, 2021, and the total Contract duration increased to 302 days.

Sincerely,

Charles D. Gooden Consulting Engineers, Incorporated

Charles D. Gooden, Jr.

a 10g.

Construction Manager

Attachment: Balancing Change Order No. 3 dated 07/15/2022

Total Balancing Change Order Amount: -\$14,606.04

Balancing Change Order Bid No 21-021, Project No 17206 Charles D. Gooden Consulting Engineers, Inc. - TBPE F-4176 7/19/2022

| LINE NO. | ITEM NO. | DESCRIPTION | UNIT | BALANCING CHANGE ORDER QUANTITY | UNIT PRICE | BALANCING CO AMOUNT |
|----------|----------|--|--------|---------------------------------------|------------|------------------------|
| 1 | 1 | Mobilization | LS | 0.00 | \$6,800.00 | \$0.00 |
| 2 | 2 | Project Sign | EA | 0.00 | \$427.00 | \$0.00 |
| 3 | 3 | Removing Old Concrete Pavement, Existing Sidewalks and Driveways (Saw-Cut 2" Depth) | SY | -9.34 | \$35.00 | -\$326.90 |
| 4 | 4 | Removing Old Concrete Pavement, Existing Sidewalks and Driveways (Full Depth Saw-Cut) | SY | 0.00 | \$40.00 | \$0,00 |
| 5 | 5 | Removing Old Concrete, Existing 6" Curb | LF | -60.00 | \$1.00 | -\$60.00 |
| 6 | 6 | Roadway Excavation | CY | -73.65 | \$9.00 | -\$662,85 |
| 7 | 7 | Borrow | CY | 0.00 | \$0.00 | \$0.00 |
| 8 | 8 | Traffic Control and Regulation | MONTHS | -6.00 | \$50.00 | -\$300.00 |
| 9 | 9 | Ditch Reshaping | LF | -2900.00 | \$0,50 | -\$1,450.00 |
| 10 | 10 | 4-1/2" Thick Concrete Sidewalk | SY | -20.38 | \$57.80 | -\$1,177.96 |
| 11 | 11 | 4-1/2" Thick Concrete ADA Ramp, Complete-In-Place | SY | -29.24 | \$88.00 | -\$2,573.12 |
| 12 | 12 | 7" Thick Concrete Driveway | SY | -0.53 | \$69.00 | -\$36.57 |
| 13 | 13 | SODDING FOR EROSION CONTROL AND STABILIZATION | SY | 0.78 | \$12.00 | \$9,36 |
| 14 | 14 | TPDES General Permit No. TXR 150000, Notice of Intent (NOI) Application Fees | EA | 0.00 | \$0.00 | \$0.00 |
| 15 | 15 | Reinforced Filter Fabric Barrier | LF | 0.00 | \$1.09 | \$0.00 |
| 16 | 16 | Inlet Protection Barriers | EA | -13.00 | \$42.00 | -\$546.00 |
| 17 | 17 | Stabilized Construction Access | SY | 0.00 | \$0.00 | \$0.00 |
| 18 | 18 | Inlet Protection Barrier - Stage II (Bagged Gravel Barrier) | EA | -12,00 | \$42.00 | -\$504.00 |
| 19 | 19 | SWPPP INSPECTION AND MAINTENANCE | MONTHS | -7.00 | \$473.00 | -\$3,311.00 |
| 20 | 20 | Adjusting Existing Storm or Sanitary Manhole to Grade of Proposed Sidewalk | EA | -1.00 | \$382.00 | -\$382.00 |
| 21 | 21 | Remove and Relocate or Dispose of Traffic Signs, Mail Boxes, and Roadway Signs | EA | -4.00 | \$120.00 | -\$480.00 |
| 22 | 22 | Relocate Existing Water Meter and Box | EA | -4.00 | \$274.00 | -\$1,096.00 |
| 23 | 23 | Adjust Existing Water Valve Box to Grade of Proposed Sidewalk | EA | -7.00 | \$45.00 | -\$315.00 |

Total Balancing Change Order Amount: -\$14,606.04

Balancing Change Order Bid No 21-021, Project No 17206 Charles D. Gooden Consulting Engineers, Inc. - TBPE F-4176 7/19/2022

| LINE NO. | ITEM NO. | DESCRIPTION | UNIT | BALANCING CHANGE ORDER QUANTITY | UNIT PRICE | BALANCING CO AMOUNT |
|----------|----------|---|------|---------------------------------------|-------------------------------------|------------------------|
| 24 | 24 | Work Zone Pavement Markings (Non-Removable) - 24" Stripe (W) - For Stop Bar and Crosswalk (See Plans for Standard or Continental Type) | LF | -10.00 | \$4.70 | -\$47.00 |
| 25 | 0 | Miscellaneous (NOT ON BID PROPOSAL) | LS | 0.00 | \$0,00 | \$0.00 |
| 26 | 25 | 6" Concrete Curb (Detail No. 1A on Sheet No. D1 of 6) | LF | -13.00 | \$15.00 | -\$195,00 |
| 27 | 26 | Work Zone Pavement Markings (Non-removable) - 12" Stripe (W) - For Stop Bar and Crosswalk | LF | -96.00 | \$12.00 | -\$1,152.00 |
| 28 | 27 | Pedestrian Warning Sign - Keyed Note No. 1 - Sign Post and Aluminum Signs W11-2 x 2, W-16-7P x 2 (See Sheet No. 2 Issued 4/20/21) | EA | 0.00 | \$325.00 | \$0.00 |
| 29 | 28 | Pedestrian Warning Sign - Keyed Note No. 2 Sign Post and Aluminum Signs W11-2 x 1, W-16-7P x 1 (See Sheet No. 2 Issued 4/20/21) | EA | 0.00 | \$325.00 | \$0.00 |
| 30 | 29 | Pedestrian Warning Sign - Keyed Note No. 3 Sign Post and Aluminum Signs W11-2 x 1, W-16-9P x 1 (See Sheet No. 2 issued 4/20/21) | EA | 0.00 | \$325,00 | \$0.00 |
| 31 | 30 | Modification of Existing Irrigation System (Irrigation lines and valves) at Boys and Girls Club | LS | 0.00 | \$750.00 | \$0.00 |
| 32 | 31 | Concrete Pavement to Support new 6" Concrete Curb at Boys and Girls Club | LS | 0.00 | \$450.00 | \$0.00 |
| 33 | 32 | Tree Removal (4" - 12" DIA) (Crepe Myrtles in Addicks Clodine Median) | EA | 0.00 | \$150.00 | \$0.00 |
| 34 | 33 | Extra Bank Sand Backfill | CY | 0.00 | \$32.00 | \$0.00 |
| 35 | 34 | Cement Stabilized Sand | TON | 0.00 | \$36.00 | \$0.00 |
| 36 | 35 | Additional Sodding for Erosion Control - Quail Glen Valley | SY | 0.00 | \$9.00 | \$0.00 |
| 37 | 35 | HYDROMULCH - SEED PLAN 1 - HARRIS COUNTY SPECIFICATION 165 | AC | 0.00 | \$3,520.00 | \$0.00 |
| 38 | 37 | DETECTABLE WARNING SURFACE - TXDOT SS 5294 - 2004 | EA | 0.00 | \$225.00 | \$0,00 |
| | | | | | TOTAL BALANCING CHANGE ORDER AMOUNT | -\$14,606.04 |

CERTIFICATE OF INTERESTED PARTIES

FORM **1295**

1 of 1

| | | | | | 1011 | | |
|---|--|--|-------------------------|---------------------------------|--------------|--|--|
| | Complete Nos. 1 - 4 and 6 if there are interested parties. | mplete Nos. 1 - 4 and 6 if there are interested parties. mplete Nos. 1, 2, 3, 5, and 6 if there are no interested parties. | | | | | |
| 1 | <u> </u> | | CERTIFICATION OF FILING | | | | |
| _ | lame of business entity filing form, and the city, state and country of the business entity's place f business. | | | Certificate Number: 2022-912605 | | | |
| | RJ&M Utility Construction, LLC | | | | | | |
| | Channelview, TX United States | | | e Filed: | | | |
| 2 | Name of governmental entity or state agency that is a party to the being filed. | e contract for which the form is | 077. | 07/20/2022 | | | |
| | FORT BEND COUNTY | | | e Acknowledged: 02/2022 | | | |
| | Build the identification when all the three controls and | | | | | | |
| 3 | Provide the identification number used by the governmental enti- description of the services, goods, or other property to be provided | | ntity the | contract, and prov | /ide a | | |
| | 21-021 | | | | | | |
| | CHANGE ORDER 3- DECREASED AMOUNT | | | | | | |
| 4 | | | | Nature of | | | |
| Ī | Name of Interested Party City, State, Country | | ry (place of business) | | plicable) | | |
| | | | | Controlling | Intermediary | | |
| R | angel, JOSE | Channelview, TX United Sta | tes | X | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| 5 | Check only if there is NO Interested Party. | | | | | | |
| 6 | UNSWORN DECLARATION | | | | | | |
| | My name is | , and my date of birth is | | | | | |
| | | | | | | | |
| | My address is | , | · | ., | , | | |
| | (street) | (city) | (state) | (zip code) | (country) | | |
| | I declare under penalty of perjury that the foregoing is true and correct | t. | | | | | |
| | Executed inCount | y, State of, on | the | _day of | , 20 | | |
| | | _ | | (month) | (year) | | |
| | | | | | | | |
| | | Signature of authorized agent of | f contracti | ng business entity | | | |
| | | (Declarant) | | | | | |